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A& = (kiR =518) ©
AEEAH B H24.5.15 H25.7.11 H24.9.13 H24.11.20 H25.1.15 H25.3.6
B 7] 1285109 1385199 12854593 1585209 12855653 1485009
3 B °C 18.0 30.5 27.0 16.0 10.0 18.0
7K e T 19.0 26.0 26.5 14.0 8.0 11.0
i1 =] TRIOER TROED TSR TRIDER TIOEB TRIOER
B +H HEER HEFEA HEER HEEA HEER P =l
B n RBU RBU AU RBU AL s
2 = me piii =1 i:: 3= pii: =1 HmE mR
p H 7.3 7.5 8.5 7.0 7.3 7.3
B O D mg/ & 2.7 2.3 2.1 1.8 1.0 1.9
C O D mg,/ £ 6.7 6.7 4.7 3.7 3.7 6.7
S S mg,/ & 5.5 24.0 5.0 7.5 BEnd 6.5
D 0 mg,/ & 9.2 7.8 8.0 9.0 11.0 12.0
KESEEES | MPN,/100m £ 4,600 240,000 9,300 4,600 4,600 2,300
ARIY L mg,/ & BtEnd wtEng BtEnd wtEng BtEnd BwtEnd
S 7Y mg,/ & BNy BwEng BiaEng BwEng BiEng BEng
B #®y > mg,/ £ wHEnd wHaEnd wHEnd wHaEnd wHEnd mHEnd
$h mg,/ & BtEnd BwEng BEng BwEng BEng BEng
i 20 A mg,/ £ wHand mHaEnd wHaEng mHaEnd wHaEnd wHaEnd
k = mg,/ & BN BwEng BEng BEng BEng BEng
W oE R mg,/ & 2.2 1.8 0.5 1.4 1.0 0.9
woyo mg,/ & 0.2 0.2 BEnd 0.1 BiEnd 0.1




Al o T Rkttt ="F)II1E) @

SHEFHBE B i H24.5.15 H24.7.11 H24.9.13 H24.11.20 H25.1.15 H25.3.6
i A 12852093 OBF5373 OKF3073 153593 13K19%) 15651593
= m C 18.0 26.5 27.0 16.0 10.0 18.0
7K P C 19.0 24.0 26.0 14.0 9.0 11.5
iz B TDER T ER TDER TDER TDER FDED
= 1H AT El=LE mEER HEER ®mEER AR
)i J) 1 1 12U A\ 9 iz
2 = MTFKR ®mR g EHR g HE
p H 6.8 7.3 7.9 6.7 6.6 7.4
B O D mg/ £ 20.3 4.5 2.0 54 3.7 5.1
c O D mg/ £ 18.3 12.8 5.7 7.7 9.7 8.1
S S mg/ £ 102.0 16.0 2.7 4.0 2.0 8.5
D O mg./ £ 13.5 9.4 8.8 9.8 13.5 11.0
AiHERFEL | MPN,/100m £ 460,000 460,000 93,000 15,000 46,000 24,000
ARZID A mg/ £ RHENT BHENg BRHENg BHENg RHENd BRHENg
> 7Y mg/ £ BRHENg BHENg BRHENg BHENg RSN d BRHENg
qB KU mg/ £ RHENT BHENg BRHENg BHENg RHENd RHENg
ia mg/ £ BRHENg BHENg RSN d BHENg Ity gicy BRHENg
ANl Y0 A mg/ £ BRHENg BHENg RN g BHENg RN BRHENg
o = mg/ £ RHENT BHENng RN g BHENg RN g BHENg
w2 = mg/ £ 6.5 0.9 1.2 1.7 5.3 9.5
> mg/ £ 1.2 0.1 0.1 0.2 0.4 0.7




Al o Bsl

(BOKHm = HIt5RAE) O

AEEAH B H24.5.15 H24.7.11 H24.9.13 H24.11.20 H25.1.15 H25.3.6

B % 138510% 118533%) 1385204 168510 13853143 1485509

= e C 18.0 28.6 27.5 16.5 10.0 18.0

7K B °C 18.0 24.0 27.0 12.0 7.5 11.0

i =] TOEB TeOER TOEB TIOEB TOEB TOEB

= iz HmEER xEE HEER mEER HEER Bk

i ) AL oy AU AU AU oy

g2 = me piiid=s] i:: 31 i} i:: 31 me
pH 7.5 7.4 7.7 6.9 7.2 7.2

B O D mg./ 2 2.0 3.8 1.8 1.3 1.9 1.5

C O D mg/ & 1.1 4.1 3.7 4.7 4.7 5.7

S S mg,/ £ 3.0 14.0 1.7 5.0 1.5 2.5

D 0 mg./ & 9.5 7.9 8.6 11.0 11.5 11.5

KESEEE# | MPN,/100m £ 2,400 2,300 4,300 4,600 4,600 1,500

hRID L mg,/ & BN BwEng BiaEng BwEng BiEng BEng

> 7Y mg,/ £ wHaEnd wHaEnd wtand wHaEnd wHEng wHaEnd

B mg,/ & BNy BwEng BiaEng BwEng BiEng BEng
i) mg,/ £ wHEnd wHaEnd wtand wHaEnd wHEnd mHEnd

Al 0 L mg,/ & BtEnd BwEng BEng BwEng BEng BEng

b E mg,/ £ wHand mHaEnd wHaEng mHaEnd wHaEnd wHaEnd

W =T & mg,/ & 0.4 0.6 0.4 0.6 0.5 0.5

T B mg,/ £ wHEnd mHEnd waEnd mHaEnd wHaEnd wHaEnd




ANl o REEFII

(PR =R "FEHT) @

SHEFHBE B i H24.5.15 H24.7.11 H24.9.13 H24.11.20 H25.1.15 H25.3.6
i A 12855093 11850253 10855093 1585593 138219 15650093
= m C 18.0 28.8 26.5 16.5 10.0 18.0
7K P C 18.0 26.0 28.5 14.5 8.5 12.0
iz B TDER T ER TDER TDER TDER FDED
= 1H HmEER REAE mEER HEER KR SR
)i J) 2\ 1 \9 U U U
2 = g ®mR g EHR HER HE
p H 8.3 7.3 7.9 7.6 8.0 8.3
B O D mg/ £ 2.7 2.7 4.5 1.5 2.3 1.7
c O D mg/ £ 4.3 8.7 7.7 4.7 7.7 4.7
S S mg/ £ 4.5 20.5 7.0 7.5 3.0 3.0
D @) mg/ £ 9.5 7.8 8.6 10.5 11.0 10.2
AiHERFEL | MPN,/100m £ 9,300 240,000 2,300 2,300 2,300 230
AEZIT A mg/ £ RHENT BHENg BRHENg BHENg RHENd BRHENg
> 7Y mg/ £ BRHENg BHENg BRHENg BHENg RSN d BRHENg
qB KU mg/ £ RHENT BHENg BRHENg BHENg RHENd RHENg
ia mg./ £ 0.009 BHENg RSN d BHENg Ity gicy BRHENg
ANl Y0 A mg/ £ BRHENg BHENg RN g BHENg RN BRHENg
o = mg/ £ RHENT BHENng RN g BHENg RN g BHENg
w2 = mg./ @ 0.7 0.9 1.0 0.8 0.7 1.4
> mg/ £ 0.1 0.1 0.07 BHENg RN g BHENng




g o EFI

(FoKitbm =EHER) ©

SHEFHBE B i H24.5.15 H24.7.11 H24.9.13 H24.11.20 H25.1.15 H25.3.6
i3 A 1381553 10854253 11654053 16853093 136519 15852553
= m C 18.0 27.9 27.5 16.5 10.0 18.0
7K i C 17.5 25.5 27.5 13.0 9.5 11.0
iz B TDER T ER TDER TDER TDER FDED
= 1H HmEER IRAE mEER HEER KR R
)i J) 2\ 1 \9 U g iz
2 = g ®mR g HE HER HE
p H 7.6 7.2 8.3 7.1 7.2 7.5
B O D mg.” £ 2.7 3.3 4.2 1.8 1.2 1.7
c O D mg/ £ 5.9 10.7 7.7 53 8.1 4.7
S S mg/ £ 5.0 28.5 9.0 4.0 7.5 2.5
D @) mg/ £ 9.5 7.8 8.8 11.5 11.5 11.5
AiHERFEL | MPN,/100m £ 24,000 43,000 240,000 9,300 9,300 900
AEZIT A mg/ £ BRHINg BHENg BRHENg BHENg RHENd BRHENg
> 7Y mg/ £ BRHENg BHENg BRHENg BHENg RSN d BRHENg
qB KU mg/ £ BRHINg BHENg BRHENg BHENg RHENd RHENg
ia mg/ £ BRHENg BHENg RSN d BHENg Ity gicy BRHENg
ANl Y0 A mg/ £ BRHEINg BHENg RN g BHENg RN BRHENg
o = mg/ £ RHENT BHENng RN g BHENg RN g BHENg
wE = mg/ £ 0.6 1.0 0.3 0.3 0.7 0.6
> mg/ £ BRHENg 0.1 RN g BHENg RN g 0.1




ANl o

(FoKithm =BT ©

SHEFHBE B i H24.5.15 H24.7.11 H24.9.13 H24.11.20 H25.1.15 H25.3.6
i3 A 13654553 10852093 1085155 16855593 14865109 15655093
= m C 18.0 27.2 26.5 16.0 9.5 18.0
7K P C 17.0 25.0 28.0 12.0 6.5 12.0
iz B TDER T ER TDER TDER TDER FDED
& 1H HmEER IRAE mEER HEER ®mEER SR
)i J) 2\ 1 \9 U U U
2 = g ®mR g EHR HER HE
p H 7.4 6.9 8.0 6.9 7.1 7.3
B O D mg/ £ 2.3 3.7 2.7 1.9 1.1 1.4
c O D mg/ £ 3.9 9.7 5.7 4.1 4.1 3.7
S S mg/ £ 1.5 69.0 5.3 5.0 1.5 1.5
D O mg./ £ 10.0 9.0 9.0 11.0 10.5 10.8
AiHERFEL | MPN,/100m £ 7,500 240,000 43,000 4,300 2,300 930
AEZIT A mg/ £ RHENT BHENg BRHENg BHENg RHENd BRHENg
> 7Y mg/ £ BRHENg BHENg BRHENg BHENg RSN d BRHENg
qB KU mg/ £ RHENT BHENg BRHENg BHENg RHENd RHENg
ia mg/ £ BRHENg BHENg RSN d BHENg Ity gicy BRHENg
ANl Y0 A mg/ £ BRHENg BHENg RN g BHENg RN BRHENg
o = mg/ £ RHENT BHENng RN g BHENg RN g BHENg
w2 = mg/ £ 1.0 2.2 2.1 1.0 0.8 1.0
> mg/ £ BRHENg 0.4 0.005 BHENg RN g 0.1




